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1. Expand :

(a +2)(a —1)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YEeQ1r62EmsM

2. Expand :

(m — 4)(m + 6)

° Watch Video Solution

3. Expand :

(p+8)(p—3)

o Watch Video Solution



https://dl.doubtnut.com/l/_YEeQ1r62EmsM
https://dl.doubtnut.com/l/_1BBuRn21Yafv
https://dl.doubtnut.com/l/_3UPwuzCcnAmB

4. Expand :

(13 + 2)(13 — x)

° Watch Video Solution

5. Expand :

(3z + 4y)(3z + 5y)

o Watch Video Solution

6. Expand :

(92 — 5t)(9z + 3t)


https://dl.doubtnut.com/l/_IMay4ZYDBFwq
https://dl.doubtnut.com/l/_OAwjJJ4uYwFq
https://dl.doubtnut.com/l/_stR8No07mZdi

° Watch Video Solution

7. Expand :

(e

o Watch Video Solution

8. Expand :

() 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_stR8No07mZdi
https://dl.doubtnut.com/l/_3modTLGwjfCO
https://dl.doubtnut.com/l/_3VwYQuDmeM3P
https://dl.doubtnut.com/l/_m1GdaUXeREKD

9. Expand :

)G )

° Watch Video Solution

10. Expand :

(k + 4)°

o Watch Video Solution

11. Expand :

(7z + 8y)°

S


https://dl.doubtnut.com/l/_m1GdaUXeREKD
https://dl.doubtnut.com/l/_kpnZf4t228oD
https://dl.doubtnut.com/l/_339boeFoQA5G

| ¥ Vvatch Video Solution

12. Expand :

(7 + m)3

o Watch Video Solution

13. Expand :

(52)°

° Watch Video Solution



https://dl.doubtnut.com/l/_339boeFoQA5G
https://dl.doubtnut.com/l/_Y2WrsdG5miuq
https://dl.doubtnut.com/l/_7OVoPTeVjWTg

14. Expand :

(101)°

o Watch Video Solution

15. Expand :

(2)

° Watch Video Solution



https://dl.doubtnut.com/l/_VGcJroUdVSnA
https://dl.doubtnut.com/l/_Sa8Rcj53gAcP

16. Expand :

1\3
2 —
(m+5)

o Watch Video Solution

17. Expand :

5% 3
()
Y oI

° Watch Video Solution



https://dl.doubtnut.com/l/_jlHJOOMvmV2Y
https://dl.doubtnut.com/l/_RGi221BazUzz

18. Expand :

(2m — 5)°

o Watch Video Solution

19. Expand :

(4-p)°

o Watch Video Solution

20. Expand :

(72 — 9y)°


https://dl.doubtnut.com/l/_lbIL5PalR83S
https://dl.doubtnut.com/l/_VYNJ0FHSmRFs
https://dl.doubtnut.com/l/_dlbFcgfrghG7

° Watch Video Solution

21. Expand :

(58)°

o Watch Video Solution

22. Expand :

(198)°

o Watch Video Solution



https://dl.doubtnut.com/l/_dlbFcgfrghG7
https://dl.doubtnut.com/l/_eqptQLwZnJRL
https://dl.doubtnut.com/l/_5JNSbvSbfQCH

23. Expand :

] 3
( )
2p

o Watch Video Solution

24. Expand :

(-3)

° Watch Video Solution



https://dl.doubtnut.com/l/_VfeYvEwLBF0n
https://dl.doubtnut.com/l/_qNjXR2aLwbFk

25. Expand :

(z-2)

o Watch Video Solution

26. Simplify :

(2a + b)® — (2a — b)°

° Watch Video Solution

27. Simplify :

(3r — 7k)° + (3r + 2k)°


https://dl.doubtnut.com/l/_kVuc7cdxgQX8
https://dl.doubtnut.com/l/_fMAMOzAzRvDd
https://dl.doubtnut.com/l/_sYLFi5oA6RyA

° Watch Video Solution

28. Simplify :

(4a — 3)° — (4a + 3)°

o Watch Video Solution

29. Simplify :

(52 — Ty)° + (5 + Ty)°

o Watch Video Solution



https://dl.doubtnut.com/l/_sYLFi5oA6RyA
https://dl.doubtnut.com/l/_Uwei57k5CWl6
https://dl.doubtnut.com/l/_N1VVMeOTS72e

30. Expand :

(2p+ q+5)°

o Watch Video Solution

31. Expand :

(m + 2n + 3r)°

o Watch Video Solution

32. Expand :

(3z + 4y — 5p)°


https://dl.doubtnut.com/l/_C1f90oVOaABn
https://dl.doubtnut.com/l/_Q3YJ1t6WjmR6
https://dl.doubtnut.com/l/_v5O0VsAH1doL

° Watch Video Solution

33. Expand :

(Tm — 3n — 4k)°

o Watch Video Solution

34. Simplify :

(x —2y+3)° + (z +2y—3)°

o Watch Video Solution



https://dl.doubtnut.com/l/_v5O0VsAH1doL
https://dl.doubtnut.com/l/_K6Wh7KHD58Yz
https://dl.doubtnut.com/l/_gRt9j5SJ2Eb8

35. Simplify :

(3k — 4r — 2m)* — (3k + 4r — 2m)*

° Watch Video Solution

36. Simplify :

(7a — 6b + 5¢)° + (7a + 6b — 5¢)°

o Watch Video Solution

37. Choose the correct alternative answer for

each of the following question :


https://dl.doubtnut.com/l/_l1EDfoVD5aeS
https://dl.doubtnut.com/l/_9sdMfqsDRA8g
https://dl.doubtnut.com/l/_0GtzmHeE6onj

The expansion of (z — 10)(z + 12) is ...

A 22+ 2z — 120

B.z2 — 2z — 120

C.z? + 2z + 120

D.z2 — 2z + 120

Answer: A

° Watch Video Solution

38. Choose the correct alternative answer for

each of the following question :


https://dl.doubtnut.com/l/_0GtzmHeE6onj
https://dl.doubtnut.com/l/_WpnJoCeoV3RL

(m—-3)(m—-7) =7

A.m? — 10m — 21
B.m? — 10m + 21
C.m? 4+ 4m + 21

D.m? — 4m — 21

Answer: B

° Watch Video Solution

39. Choose the correct alternative answer for

each of the following question :


https://dl.doubtnut.com/l/_WpnJoCeoV3RL
https://dl.doubtnut.com/l/_TaKkvkZP81ew

: 1 7 .
The expansion of (w + §> (az — §) is...

Aw2—8x—7
' 3 9
5 2+8w 7
x —_—
3 9

7

C.x?—2 —
x :B—I-g
7

D.z° — 2z — —
€T T 9

Answer: D

° Watch Video Solution

40. Fill in the blanks :

(2 +4)(z —3) = 2+ (v, )z + (4) X (... .)


https://dl.doubtnut.com/l/_TaKkvkZP81ew
https://dl.doubtnut.com/l/_uMtEXJzQOoMG

o Watch Video Solution

41. Fill in the blanks :

(2z + 5y)(2z + 5y) = (22)° + (......) x 2z + (5y)*

o Watch Video Solution

42. Expand :

(p+5)(p+2)

° Watch Video Solution



https://dl.doubtnut.com/l/_uMtEXJzQOoMG
https://dl.doubtnut.com/l/_MWbaiWO8NLys
https://dl.doubtnut.com/l/_NfTOgDNaG2rI

43. Expand :

(z — 2)(z + 4).

° Watch Video Solution

44, Expand :

(n—3)(n—7).

° Watch Video Solution

45, Expand : (Use formulae)

t 3y \°
3y dx



https://dl.doubtnut.com/l/_ChyPlPwqBjbk
https://dl.doubtnut.com/l/_hUbOsoy2o9fv
https://dl.doubtnut.com/l/_enqy4kic4H6w

° Watch Video Solution

46. Expand : (Use formulae)

(28)°

o Watch Video Solution

47.Expand : (Use formulae)

(23)°

o Watch Video Solution



https://dl.doubtnut.com/l/_enqy4kic4H6w
https://dl.doubtnut.com/l/_cVA5UgzQDy3J
https://dl.doubtnut.com/l/_qcpbbt2WMUnv

48. Expand : (Use formulae)

(z —y—3)°

° Watch Video Solution

49. Simplify : (Use formulae)

(3¢ — 7y)° + (3z + Ty)°

o Watch Video Solution

50. Simplify : (Use formulae)

(52 — 4)° + (5z + 4)°


https://dl.doubtnut.com/l/_SHgwv8vMqrvO
https://dl.doubtnut.com/l/_KgELx6Ot7iG2
https://dl.doubtnut.com/l/_8sGA9kHWwQyJ

o Watch Video Solution

51. Simplify : (Use formulae)

(2a — 3b + 4¢)® — (2a + 3b — 4c)°

o Watch Video Solution

52. Simplify : (Use formulae)

(4z — By + 62)” + (4z + 5y — 62)°

° Watch Video Solution



https://dl.doubtnut.com/l/_8sGA9kHWwQyJ
https://dl.doubtnut.com/l/_g9FlVvqzTdCT
https://dl.doubtnut.com/l/_TVIAS7lzkewZ

